=RRU15 5748 BTJOVY

@11/4(%) =5 EmhER ®12/23(%) &8 =5hER
POLE T =% % 4 59m LTI %o B % Y¢ER
11| 9:00 | = i BrE 11| 9:00 | = =% el
TO & B TO —a
S8R Y¢hR % ] SR &H * it
2 110:20 | =y =% B 2 [10:20 | = RrE SRR
TO = TO &

LTI Eiftr % o oA LTI =5 % ES[5:S
3(11:40 | =y SRR e 3(11:40 | = == B
TO SRR TO ==

@1/8(R) 215 5 ER

LTI & 5IRT % &H

11| 9:00 | = #7a B
TO e

S #REg * 2

2 [10:20 | = 5 ==
TO B

@12/9(x) =25 EREPER ®1/13(x) 215 ERmEPER

LTI E3[ES % ] LT & B %k &H

11 9:00 | = tEEIRg GrE 11 9:00 | = S¢BR 8
TO 5 TO SRR

LTI Eiftr % YtHR SR 450r % #RrE

2 110:20| = 20 s 2 110:20| = BrE ==
TO el TO BrE

LA T 4505 % oS LTI J¢ER %k s

3(11:40 | =y i S¢BR 3(11:40 | = EEIR e
TO B TO #F

@12/10(H) 215 ZHHER @1/20(%) =15 BEPFER

LT E3[ES % o B SR S %k EifrE

1] 9:00 | = == =% 11 830 | = == e
TO == TO #hra

SHEA &=H % =% S =% % B

2 110:20| = R BrE 2| 9:50 | = sl B
TO e TO Bt

S =0 * #ra

311110 | = =% SEBR
TO b iz

®12/16(%) =15 EREPFR ©1/27(x) 242 SERGhERS

ST & % =% ST 4-ERa % B

1113:00| = B SRR 11 9:00 | =4 SRR ==
TO 87 TO SRR

ST HENRg * JLAA AR ool %k #RrE

2 [14:20 | = GrE =% 2 110:20| = B B
TO #rE TO i

LTI J¢ER % &H

3(11:40 | = BrE e
TO 0

@2/3(%) 215 BEHPER

LTI &H % ES[E:S

11| 9:00 | =4 Bt =%
TO SR

PO ElEm % =%

2 [10:20 | = == 3]l
TO ==

LTI R % a0

3(11:40 | = == e
TO =%




